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(

SBI PO PHASE - I - 143 (SOLUTION)

)

REASONING
(1-2)
Sunita”<— Sunil"”
Anjali” <>Mahesh”  Lalita"
Shyam"
1. (9) 2. (1)
(3-7) :
Floor | Student | Rank
8 Y 1
7 T 7t
6 R 5%
5 P 8™
4 U 6™
3 \% 3
2 S ord
1 Q 4
3. (2) 4. (2) 5. (2)
6. (5) 7. (9)
(8-12) :
8. 4 J>U<R
I. R>J — False
K>S=U>L
II. L=K — False
Neither conclusion I nor II is true
9. (2) K>W>C<X

10.

11.

I. X>K — False
W>C>L
II. L<W — True
Only conclusion II is true
5) S>M>A>R
I. S>R —> True
S>M>T>Y
II. Y<S — True
Both conclusions I and II are true
4 K>W>C
I. C>K — False
D>W>C>L
II. L>D — False

Neither conclusion I nor II is true
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12.

3 U>P=B=K>L
I. L<U— Doubt
II. U=L— Doubt
Either conclusion I or II is true

(13-17):

13.
16.

PK Rgd
A A C
Sultan

Pari E
Padman

D |

Dangal }\?‘
Blackmail

(1) 14. (4)

(1) 17. (2)

G
Padmavat

15. (5)

(18-22):

Input:
Step I:

Step II:

In the first step, the lowest number is
placed on the left side as per aplhabetical
order, the vowel letter is placed on the
right side. In second step, second lowest
number are placed to the left side of the
first lowest number and the second
vowel letter as per dictionary is placed
on the left side of the first vowel letter
and this steps are continue to till the
last step.

87 young hammer 19 34 use enter ocean
ink 44 25 mock 63 98

19 87 young hammer 34 use ocean ink
44 25 mock 63 98 enter

25 19 87 young hammer 34 use ocean
44 mock 63 98 ink enter

Step III: 34 25 19 87 young hammer use 44 mock

63 98 ocean ink enter

Step IV: 44 34 25 19 87 young hammer mock 63

Step V:

98 use ocean ink enter

63 44 34 25 19 87 young mock 98
hammer use ocean ink enter

Step VI: 87 63 44 34 25 19 young 98 mock

hammer use ocean ink enter

Step VII: 98 87 63 44 34 25 19 young mock

18.
21.

hammer use ocean ink enter
(2) 19. (5) 20. (5)
(5) 22. (1)
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(23-27) :
rA LA LA
[y Iy v [ ¢ |
SLONI QR M P
Family Tree
N(+'<:>QH
= R™ L(+)<:PH —0"
S(*i MH
23. (2) 24. (3) 25. (2)
26. (3) 27. (4)
28. (3)

xas huma —> is eating

tepo qua - sells toys
sut time - i like
\ 'she' and 'apples' - 'kew' and 'deko’
29. (5) As, —
- l
L1l
OPTION X oM
' ]
+6
=5
Similarly,
-1
+2
= | |
111 111
CHOICE ICSFE D
T T '|' '[
[ +6
-5
+4
30. (2)
_ 10km
5kmi 5km
N 10km
(31-35):
Person Day Date
S Monday 13
T Tuesday 6
\% Wednesday | 12
R Thursday 20
U Friday 27
Q Saturday 15
P Sunday 10
31. 4) 32. (3) 33. (4)
34. (2) 35. (4)
Ph:
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Maths
(36-40) :
(?)1,6 24
36. ) 96~ (op"
= P16704= 96 x 24
= ?2=96x 24

= ?= /06x24 =48
37. (1) (?)°% of 650 = (20) + (4)2

';2

100

= x 650 = 416

416x100

650

= ?2=064

= ?=8
38. (4) 92 x7+8-63.80="7

92 x7
= ?= T - 63.80
=80.5-63.80=16.7
39. (4) (5696 +4 -?) x 5=1020
1020

= 1424 -?="—"—
5

— 1424 - ? = 204
= ?=1424 - 204 = 1220

= 2=

40. 4)
(41 - 45) :
41. (3) Required total
= 42000 x ><§+34OOO>< 21 xi
S 100 7
= 8820 + 4080 = 12,900
42. (1) Required difference
= 56000 x 24 17000 x
100 100
= 13440 - 5440 = 8,000
43. (4) Number of bill payment by Paytm
= 42000 x 100 21,420
Number of prepaid recharge by Vodafone
= 22000 x 24 x 3 = 1,980
100 8 ’
21420
i = x100 |%
\ Required% 1980 ) 0
=1081.81 % =~ 1082%

44. (2) Required average

_1 {42000>< 51 +17000x£+22000x
5 0 100

36 34000 x 22+ 56000 x ﬂ}
100 oo 100

[21420 + 5440 + 7920 + 9520 + 13440

= —x57740 = 11,548

ut|— Cﬂl'—‘
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45. (3)
(46-50):
46.

47. (4)
48. (2)
49. (5)
50. (1)
51. (3)

Number of recharge by India Post

21
= 34000 x 100 7,140

Number of bill payment by Airtal

= 17000 x 100 - 5,440
7140 - 5440
i = | —————x100 |%
Required% [ 5440 } 0

=31.25%

(2) The number series is:

1+32+2=12
12+42+3=231
31+52+4=60 # 63
60 + 6%+ 5 =101

101 + 72+ 6 = 156
157 + 82+ 7 =227
The number series is:
4x1+5=9
9x2+10=28

28 x 3+ 15=99

99 x 4 +20 =416 # 415
416 x 5+ 25 =2105
2105 x 6 + 30 + 12660
The number series is:
(1x2x3)+1=7
2x3x4)+2=26
(3x4x5)+3=63 % 64
4x5x6)+4=124
(5x6x7)+5=215
(6x7x%x8)+6=2342
(7x8x%x9)+7=>511
The number series is:
1x22+5=9
2x3%2+10=28
3x4%2+15=63

4 x52+20=120

5 x 62+ 25 =205

6 x 72 + 30 = 324+ 323
7 x 82+ 35 =483

The number series is:
13+ 25 =26

2% + 50 = 58# 57

33+ 75=102

4% + 100 = 164

5%+ 125 =250

6% + 150 = 366

7%+ 175 =518

Let the distance between point B to point
C=xkm

Therefore, the distance between point A
to point B = (x + 4) km
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52.

53.

54.

U

70U U

Time taken to drain the pool = .

O R O VRV VS VA |

—_
—
—

\

ATQ,

X x+4 _ 36
24-4 "~ 24+4 60

X x+4
20 28
7x—-5x-20

140
10x—- 100 = 420
x =52 km
Distance between point A to point B
=52+ 4 =56 km
Let the amount invested by M is Ix and
amount invested by L is ¥(4800-x).

xx3x2 (4800 -x)x5x2

ATQ, 100 100
6x = 48000 — 10x
16x = 48000
S %3,000
T 16 :
Let x m®/min be filling capacity of the
pump.
The draining capacity of the pump will
be (x + 18)m?®/min

3
5

_3
5

) 6500 |
Time taken to fill the pool = —,  min

+18 ™R
ATO,

6500 6500 - o5

x  x+18
6500 (x + 018) — 6500 x = 25 (x* + 18x)
6500x + 117000 — 6500x = 25(x* + 18x)

117000

25
X+ 18x-4680=0
X+ 78x—-60x-4680 =0
X(x+78)-60 (x+78) =0

=-78, 60
Ignore the negative value of x = -78
x =60 km/hr
Draining capacity of pump
=60 + 18 = 78 m®/min
Let the number of casting supplied = 100
Net CP of foundary owner
= (10000 x 100 + 5 x 10000)
=%10,50,000

X+ 18x =

1
Profit = 1050000 x 5= %2,10,000

SP = 1050000 + 210000 =%12,60,000
1260000

100 =%12,600

SP of each casting =
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55. (1)
\
(56-60) :
56. (1)
57. (4)
58. (4)
59. (3)
\

A

N
6 N
4

(A + B)'s 6 days work = 6 x (6 + 4) = 60
Remaining work = 180 — 60 = 120

45
R completes the work in 5 x 4

= 36 days

A

30 ?:36
N
6 N

Remaining work complete by A and R

. 120
together in 11 days

Required average

(32+48+60+40+54

)xlOO
5

23400
= 5 = 4,680

Total salary

= 25000 x 54 + 25000 x 110
100

x 48

= 1350000 + 1320000
=1%26,70,000

32+ 60+ 54
54+56+72

= 80.21% = 80%

Total number of female employees in
all the states together

= (836 +54 + 30 + 56+ 72) x 100

= 24,800

Required total salary

Required% = [ xlOO}%

x 20000 x 120
100

= 24800 x 100

= %5,95,20,000

Ph: O9555108888, 095552088838

60. (1)
61. (2)
62. (4)
\
63. (5)
\
64. (1)
=
=
65. (2)
\
\
(66-70):
66. (3)

Required difference
=[(36+54+30+56+72)-(32+48
+ 60 + 40 + 54)] x 100

= (248 - 234) x 100

= 1,400
CI - 20000 x 105 110 120
- 100 ~ 100 ~ 1000
20000
= 27720 - 20000 = ¥7,720
SP = 54000 x O 354,648
B 100 = 100 ’
Profit = 54648 — 54000
= 3648
Male students = 8000 x = 2400

100
Required number of students

= 2400 x = 504

100
Let the age of man and his son 4 years
ago is 10x and 3x.
ATQ,
10x+3x+4x2=30x2
13x=60-8
52
13
Difference = (10 - 3) x 4
= 28 years
ATQ,
(342 - 266) = 8%

x= = 4 years

76
100% = e 100 = 950

342
i = | —=x100 |%
Required pass% (950 ) o

= 36%

I. 7x+53x-90=0

= 7x*+63x-10x-90=0

= Tx(x+9)-10(x+9)=0
_10

= X,

II. 842-6ly+78=0

= 8y*-48y-13y+78=0

= 8y(y-6)-13(y-6)=0
B 13

= y—6,§

Clearly, x < y
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67.

68.

69.

(1) L
=
=

U

2x> - 35x-147=0
2x2 —-42x+ 7x—-147 =0
2x(x-21)+7 (x-21)=0

X 21

-
3y + 40y + 117 =0

3y2+ 27y + 13y + 117=0
3yly+9)+13(y+9 =0

= —?,_9

Clearly, x > y
X¥+9x-486=0
X +27x-18x-486=0
xX(x+27)-18 (x+27)=0
x =18, -27
¥ -40y+396=0
y¥-22y-18y+396=0
yly—-22)-18 (y-22)=0
y=18, 22
Clearly, x<y
2x%-22x+ 21x-231=0
2x (x-11)+21 (x-11)=0
x=11, —2

2
2y?+ 43y + 231=0
2y + 22y + 21y + 231 =0
2y(y+11)+21 (y+11)=0

21
= y= —?,—11

Clearly, x> y

70. 4 I. x*-19x+84=0
= X¥*-12x-7x+84=0
= x (x-12)-7 (x-12)=0
= x=7,12
II. y»~25y+ 156 =0
= y*-13y-12y+ 156 =0
= yly-13)-12 (y—-13)=0
= y=12,13

Clearly, x <y
ENGLISH LANGUAGE

(81-90):

81. (1) The verb should be given a participle
form and to make it meaningful it should
be written as ‘despite knowing’.

82. (2) Replace ‘was’ with ‘were’

83. (1) Replace ‘grow’ with ‘grew’ as this part is
in past.

84. (3) Either ‘as per’ or ‘in accordance with’.

85. (2) Replace ‘close’ with ‘closed’ as the
sentence is in past.

86. (5) No error

87. (2) Replace ‘spend’ with ‘spent’ as the
sentence is in past.

89. (2) Replace ‘make’ with ‘made’ as the
sentence is in past.

90. (5) No error
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VOCABULARIES

[

)

Word

Conviction

Elocution

Chicanery

Discretion

Infuse

Chunks
Recouped

Resumption

Deception
Candor
Heedlessness

Forfeited

Mull
Revival
Loath
Accede
Stake

Suffuse

Soak

Leverage

Meaning in English
a formal declaration that someone is guilty of a criminal

offense, made by the verdict of a jury or the decision of a

judge in a ~court of law

the skill of clear and expressive speech, especially of distinct
pronunciation and articulation

the use of trickery to achieve a political, financial, or legal
purpose

the quality of behaving or speaking in such a way as to avoid
causing offense or revealing private information

soak (tea, herbs, etc.) in liquid to extract the flavor or healing
properties

a thick, solid piece of something

regain (something lost or expended)

the action of beginning something again after a pause or
interruption

the action of deceiving someone

the quality of being open and honest in expression; frankness
rashness, inadvertence, inattentiveness

lose or be deprived of (property or a right or privilege) as a
penalty for wrongdoing

humus formed under nonacid conditions

an improvement in the condition or strength of something
reluctant; unwilling

assent or agree to a demand, request, or treaty

a strong wooden or metal post with a point at one end,

driven into the ground to support a tree, form part of

a fence, act as a boundary mark, etc

gradually spread through or over

make or allow (something) to become thoroughly wet by
immersing it in liquid

the exertion of force by means of a lever or an object used

in the manner of a lever

Ph: O9555108888, 095552088838

Meaning in Hindi

kel Y

oifiert

>Bl hytie
food

ifuh e Miyuk

fgL Ik
THky uk
i UjkjHK

VA1
Li"Vokfnrk
vuo/kurk
tr

fopkj djuk
ik ioru
viuPNd
elu yuk
nko

Hijk&ajk duk
fHikxkuk

milkyu
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SBI PO PHASE -1 - 143 (ANSWER KEY)

1. (5) 26. (3) 51. (3) 76. (4)
2. (1) 27. (4) 52. (1) 77. (1)
3. (2) 28. (3) 53. (2) 78. (3)
4. (2) 29. (5) 54. (1) 79. (1)
5. (2) 30. (2) 55. (1) 80. (5)
6. (5) 31. (4) 56. (1) 81. (1)
7. (5) 32. (3) 57. (4) 82. (2)
8. (4) 33. (4) 58. (4) 83. (1)
9. (2) 34. (2) 59. (3) 84. (3)
10. (5) 35. (4) 60. (1) 85. (2)
11. (4) 36. (5) 61. (2) 86. (5)
12. (3) 37. (1) 62. (4) 87. (2)
13. (1) 38. (4) 63. (5) 88. (5)
14. (4) 39. (4) 64. (1) 89. (2)
15. (5) 40. (4) 65. (2) 90. (5)
16. (1) 41. (3) 66. (3) 91. (3)
17. (2) 42. (1) 67. (1) 92. (1)
18. (2) 43. (4) 68. (4) 93. (4)
19. (5) 44. (2) 69. (2) 94. (2)
20. (5) 45. (3) 70. (4) 95. (5)
21. (5) 46. (2) 71. (5) 96. (3)
22. (1) 47. (4) 72. (3) 97. (1)
23. (2) 48. (2) 73. (4) 98. (4)
24. (3) 49. (5) 74. (4) 99. (2)
25. (2) 50. (1) 75. (3) 100. (5)

Note:- If you face any problem regarding result or marks scored, please
contact 9313111777

of te doubts. Join the group and you may also share your suggestions and

Note:- Whatapp with Mock Test No. and Question No. at 7053606571 for any
experience of sunday Mock Test.

Note:- If your opinion differs regarding any answer, please message the mock
test and question number to 8860330003

Ph: O9555108888, 095552088838




